
1) 17/
15 ÷ 19

/16

Answer: ____________

2) (-6569) - (-6227)

Answer: ____________

3) Find the range of the following set of data:

-9, -14, 8, 5, -0.4, 13, 0.9

Answer: ____________

4) Convert the following improper 
fraction 116/18 + 3410/14 to a mixed 
number

Answer: ____________

5) 325/17 ÷ 14/5

Answer: ____________

6) Share 33 in the ratio 7:26

Answer: ____________

7) 67/15 ÷ 315/6

Answer: ____________

8) 2200 ÷ 44

Answer: ____________

9) 1/15 of 105

Answer: ____________

10) 9 x 6 + 11 - 9

Answer: ____________

Total: ___ / 10
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Answers:

1) 272/285 2) -342 3) 27 4) 3638/63 5) 1716/17 6) 1 : 32 7) 194/955

8) 50 9) 7 10)
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